sfoi ey

235

£ 4

ol

@ A5 1000 28 A

Xl

15°C

711 2 A

® %22 100m



ol
XS
olJ
o8
ol
o|
o
ol

oA

i
<+

ojn

27H

@ &34

7 7h

OEEEE

37H

o] feEl4
® AL 34

50



® -10

@ +3



olJ
™
!
i~
FA
5
Ul
o
~,

U
T
<+
w

)A
2!

oF

T

—

NI
<

ojn

1

® C:

=2

@ B

14

@ D



‘s -5 BTF AR ¢34 Bk AAL PTh S RESE 4G
b 29

D -5<ax<4 @ -5<a<4
® -5<a<4 @ -5<a<4

®a>-bEEa<4



~ X =
[} 0
o_o + (I
~ T 2 =
I | | I +
I I I Il I
N S i ™
L £ L £ 4L
+ 4+ + 4+ +
= 9 &~ =& ¥
I | + I +



® (-5.6) — (-4.7) = -1.1






A D2WI

A

vt=A] A

KeX
=

(=2)x (-3%) =6

9.



10. o= AolA At A 5 W opx[ete] sfof & Z127

3
2+ 75

-1' >1< {(18115+5) X 2)
-1 | = =




11. FFa bl ot a>0, b<0 & o, 4 3 A2
@ axb>0 @ a+b>0 @ a-b>0

@ a+b<0 ® a+b>0



12, ohg Aol A= [ <l

W ool Bk, £ 2 AL

L

(=6)_J(+8) = (-10) =[]

@ +, -4 @ -, -4
@ -, 8 G - -8



13. 3H 4HEF I 524, 6HTG -1 WHE e 2B
A - B 9] 3t F5hH?

O -12 @ -6 ® -2 @0 ® 2



o AL
}—\L‘ '—I—'C()

otu
=2 X

-(-0) =3 s

2
3

14.



15.

D a*-b @ b+ (-a) ® a+(-b)
@b—a @(a+b)2



